05 Stellenwert: ZT, T,H, Z, E

K4/B01

1. Trage die Stellenwerte ein.

ZT|T|H|Z|E
97T + 1T 3H + 9Z + OE
12T + 8T 6H + 1Z + TE
0ZT + OT 2H + 7Z + TE
OE + 57T 0z + 5T + b5H
1H + 3T 7ZT + 1Z + 8E
6Z + 57T 4T + 4H + ©6E
2ZT + 277 12H + 24Z + 22E
3ZT + 27T 2179H + 10Z + 18E
3ZT + 8T 26H + 28Z + 20E
2. Ordne der GrofRe nach und trage in die
Stellentafel ein.
ZT|T|H|Z|E
104 H 4414 Z 21T 142H
47T 23227 0ZT 40T
23T 44032 1ZT 410 H
3. Trage die Zahlen auf dem Zahlenstrahl ein.

A B C D
| | | | | | | | | |
| | | | | | | | | |
0 42000

B C D
] ] | ] |
| | | | |
0 70000
A B C
| | | | |
| | | | |
0 35000



